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T EE5R TR

A=

2 il

==

=

A
NO.0+5.693 Et 0.095 0.100 0.168 0.590 0.246 1.199
ot 0.259 3.697 1.206 0.454 0.802 6.418
NO.1+5.693 Bt 1.311 0.174 0.062 1.547
ot 0.224 0.380 0.488 1.092
NO.241.813 Bt 0.647 0.270 0518 1.435
ot 0.224 0.391 0.679 1.294
NO.3 Et 0.318 0.898 0517 1.733
(EC.1) Yt 0.224 0.503 0.877 0.647 2.251
NO4 Bt 0.313 0.859 0.308 1.480
ot 0.215 0511 0.797 0.154 1.192 2.869
NO.5 Bt 0.313 0.517 0517 1.347
ot 0.215 0510 0.812 0.667 2.204
NOLG Bt 0.313 0.313
ot 0.215 0511 18.083 0.283 19.092
X1 B L2BE H DEAENO0.6+1.2
NO.7 Bt 0.314 0.867 1.146 0.977 3.304
vt 0.253 0.507 0.210 0.107 0.483 1.560
NO.S Bt 0.323 2.956 3.279
gt 0.223 0.331 0.595 1.149
NG9 Bt 0.320 4357 4677
ot 0.239 0.607 1.089 0.660 2.595
Bt 0.312 2.243 2.555
NO.10
gt 0.274 0.680 0.975 0.832 2.761
X2E B £3EEH DIEANO.10+13.7
NO.10+14.33 Bt 0.311 0.311
ot 0.273 0.682 4512 5.467
NO.11 Bt 0.311 1.043 1.555 2.909
ot 0.271 0.682 0.092 0.158 1.203
NO.12 Bt 0.381 0.043 0.131 0.007 1.588 2.150
vt 0.216 0.627 0.050 0.153 0.136 0.148 1.330
NO3 Et 0.302 0.302
ot 0.272 0.979 1.251
NOL15 Bt 0.059 0.059
ot 0.216 0.210 0.426
NO{7 Bt 0.000
g+ 0.000
Bt 0.000
s 0.000
Et 0.000
g+ 0.000
Bt 0.000
g+ 0.000
Bt 0.000
g+ 0.000
Bt 0.000
1+ 0.000
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B =EE T X
TiE FERI-HA RO it E R = g &
HEE
HEFHT
EAREHET [/1O/\E3ID 1+1 N 2.00 [—mBeEAERAS
H3.5,C0.21,W1.8 TIEHE-2
JALA ) 1 7N 1.00 |—mMBERHERAN
H3.5,C0.18,W1.5 TiEWB-1
NFEXF(H) 1+1+2 N 4.00 [—meEAERAM
H3.0,C0.15W1.0 TiEHB-1
YR (B |1 N 1.00 [—HBBERAEREAM
H3.5,C0.21 TIEHE-2
FAEE 1 X 1.00 (=B BEIAEREAM
H3.5,C0.15 TEHE-1
HIILAAN) 1+1+1 N 3.00 [—meExAEREAM
H3.5,C0.21,W1.5 TIEHE-2
TiERE-1| &R 6.00
TiERR-2| & 6.00
HEAERT |ESKYYS 110 X 110.00
HO0.4,W0.4 TIEHE-3
TiERR-3| &R 110.00
EASFXFoTY |2 X 2.00
HO.8, 3431 TSR
TiEHRB-4| &R 2.00
RZHFAEF 44+14+68+45 P 171.00 | 4484 (171m)
H1.5,W0.4 TIEHE-S
TiEHB-5| & 171.00
FEIEA 1 X 1.00 |— &KXt
H2.5W0.8 TIEHE-6
TiENR-6| &R 1.00
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BT [FRZ 170+17 m2 187.0
JINE 187.0%0.15 m3 281 |tiEkRB-7

231)ary 18.9+18.6+14.5+13.8 m?2 65.8
5337 1U7+7.5cm |65.8%0.15 m3 99 |tiEkB-7

65.8%20 pot | 1316.00

TiEHB-7| m3 37.92

MEEESE  [EL t=150mm 32.0+28.5+23.0+19.8+170.0+17.0 m?2 290.3
BAEML 290.3*%0.15 m3 435 [THIEHRBR-7
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BT [FRZ 170+17 m2 187.0
JINE 187.0%0.15 m3 281 |tiEkRB-7

231)ary 18.9+18.6+14.5+13.8 m?2 65.8
5337 1U7+7.5cm |65.8%0.15 m3 99 |tiEkB-7

65.8%20 pot | 1316.00

TiEHB-7| m3 37.92

MEEESE  [EL t=150mm 32.0+28.5+23.0+19.8+170.0+17.0 m?2 290.3
BAEML 290.3*%0.15 m3 435 [THIEHRBR-7

34




CE RN

I & BREAY-ES H B |AHERREM|FRERRENA| BEERREHB ® =
(em) (A-#-m3) (kg) (L) (L)
R R

1ERTEY 8.9 0.0 0.0
TEHE1 6 53.4 0.0 0.0
8 E15cmbl £ 20cmk i

1ERTEY 13.5 0.0 0.0
TEHB-2 6 81.0 0.0 0.0
82 E20cmbl £ 25cmk i

1ERT&HY 0.73 0.0 0.0
TEHE-3 110 80.3 0.0 0.0
H=30cm LA _E50cm i

1ERT&HY 1.32 0.0 0.0
TEHE-4 2 2.6 0.0 0.0
H=80cmLl £ 100cm=*EiiH

1ERT &Y 297 0.0 0.0
TEHBE-5 171 507.9 0.0 00
H=150cm LA £ 200cm& i

1ERT&HY 6.2 0.0 0.0
TEHE-6 1 6.2 0.0 0.0
H=250cm kA £ 300cm& it

1m3Y) 33.0 0.0 0.0
TEHBE-7 37.92 12514 0.0 00
HhEb 58

&t 1982.8 0.0 0.0 0.0
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A - SEXRENHE

HERHE (FER) el 1)
- - HHE R
i L] % % HOFEE HERE AR E HEE WENEE | WEH W =
R | (cm) | (om om) fom) (om) (m3) m3) LT
156 205k 47 33 a7 46 0. 061 0.27 8.9 TR E-1
o
5
% 20ELE 2535k 57 39 ] 53 0.110 0.4 13.5 TiEkRE-2
HiRR R (RER) | AR = 1)
. ARER
; #oA H%E | BORES | BEAE | BEAREE HER | EAEE | mEH &
LS {em) (cm) icm) (em) {om) (m3) (m3) kg)
J0LLE BUES 17 10 33 26 0, 002 0,022 0.73 TEHMBR-I
t
80LLE 100 22 13 41 3 0.005 0.040 130 | tiREE-4
&
* 16501 2003 30 19 b4 40 0.013 0,090 2.97 TEWMA-D
25081 E 300k 40 26 69 51 0.032 0.188 6.20 | tEMB-6

T B -1 ~0 (PSAEED B ETE

B 100%
FEH  1Om3##%v33kg

BE

HrEE

R

TIESUE-T (HhIETERERLER) U BETE

10m3s%Y33kg

LOmE &k ¥Skglt=15
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Al
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#HERE (FKPEKERET)

A =

L

HE

1

7’V ANUEL & (PU-240)

14.620

o
et

14.450

4.722

o
o
o
et

2.360

S

45.688

3B

81.840

7’ LEv AU ELBI:E (CDAIE,

250 x 250)

19.417

TD-1, 3¢ H

26.889

TD-3,

20.387

KD-2, 2E5H

2.657

ST, 1E%H

3.316

", n

72.666

7’V ANUEL ;& (CDEIE,

250 % 300)

28.816

KD-1, 2E% B

28.816

7°LEv AU ELBI:E (CDAIE,

300 x 400)

16.371

KD-3, 2E5H

=]

16.371

7' VAr AU EIE (CDAIE,

400 % 400)

19.100

KD-4, 2E% B

19.100

7°LEvANUEBI:E (CDAIE,

400 x 500)

19.100

KD-5, 2% H

19.100

7' VArARUEEIE (CDRIE,

500 X 600)

44165

KD-6, 2E% B

10.120

", n

Bt

54.285

7' VArAUELEIE (CDRIE,

M, 250 % 400)

4.845

ST, 1B

Bt

4.845
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#HERE (FKPEKERET)

A = L HE wm =

7L ANUELBIE (CDAIE, 4R, 300 X 300)

5.125 [:BINFEET (BS54 6)

it m 5.125

7' LAvRPUZLANE (CDfRIE, #&BT, 500 X 600)

27.335 |SD-7, 1EkB AQ

Hi m 27.335

B A ERRIE (eI £ AIE, 250 x 250)

22.189 |HD-1, 1EX B

B m 22.189

B 2 ECAliE (AT EAE, 250 x 400)

27.648 |HD-2, 1E& B

14.636 |SD-2,

7542 [TD-2(1), 3E% B (Bl RISHR)

B m 49.826

B A ERRIE (eTZEA1iE, 250 x 500)

6.000 [TD-2(2), 3E% B (BlftHSHR)

B m 6.000
B B EAIE (AT Z{81iE, 250 x 600)
2.000 [TD-2(3), 3% B (Bt HR)
g m 2.000

B H A BRI E (eTZE 817, 300 x 500)

11.000 |HD-3, 1E%H

20.000 |HD-3, » (EIffXSHE, HD-4&ET)

4000 [HD-4(1), » (BIfTRSER)

B m 35.000

B 2 ECfAliE (RTZAiE, 300 x 600)

29.063 |HD-4(2), 1% B (BItHSE8)

4.754 |HD-5(1), n (Bt RSHR)

B m 33.817

B R 2 ECfAliE (R AiE, 300 x 700)

18.000 |HD-5(2), 1% B (El{+tHSHR)

21.000 (HD-6, »

B m 39.000
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#HERE (FKPEKERET)

A

=
NN

L

HE

wm =

BHAERE (FTEAIE,

300 x 800)

8.000

HD-7, 1E% B

8.000

B e AERE (FTEALE,

400 x 400)

6.344

SD-3(1), 12 B (RIS )

6.344

BHAERE (FTEAIE,

400 x 500)

18.000

SD-3(2), 1Ex B (BT HSHR)

14.305

SD-4(1), » (BIFHZER)

32.305

BHAERE (FTEAIE,

400 % 600)

3.488

SD-4(2), 1% B (B HSHR)

28.064

SD-5(1), » (BIFHZER)

=]

31.552

BHAERE (RTEAIE,

400 x 700)

8.000

SD-5(2), 1Bx B (BT HSHR)

56.521

D-1, #HuER (1R B)

36.000

D-2, #EkuEiX 2% 8)

100.521

B SRR (FTEANE,

400 x 900)

16.000

D-3(1), HERERR (2B B) (BUTRSE)

16.000

BHAERE (FTEAIE,

400 x 1000)

20.000

D-3(2), HE#rEEK (2B B) (BT RSR)

40.000

D-4, #HuEIK 3R E)

60.000

BHAERE (RTEAIE,
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400 X 600 10.000 = 10.000 [ m 10.00
B 10.00
EER VYY) —b m3 | Bl&Et L
18-8-25
#HLavyy—- 10.00 0.700 0.100 0.700 | m3 0.70
18-8-40
G Ny A 10.00 0.100 2 2.000 | m2 2.00
EILZRIL 10.00 0.500 0.030 0.150 | m3 0.15
1:3
YL-FurE
T-25 B300 X 500 10.00 0.50 20.00 20| #% 20
BT #1B
CDlE(ERTF)
400 x 700 10.000 = 10.000 | m 10.00
B 10.00
EERaVHY—h m3 | Bl&EtE
18-8-25
HLavyy— 10.00 0.700 0.100 0.700 | m3 0.70
18-8-40
Sl iy = 10.00 0.100 2 2.000 | m2 2.00
ELRIL 10.00 0.500 0.030 0.150 | m3 0.15
1:3
TL-FUE
T-25 B300 X 500 10.00 0.50 20.00 20| #& 20
YRR B
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CDfliE "I ZAIiE M = H E 10mY)
% g1 E g = B #% =
CDRI;EGt T )
500 X 700 L = 10.000 = 10.000 [ m 10.00
B 10.00
JEERAYHY—F VvV = m3 | Bl&EETLE
18-8-25
HERR A= 1000 0.830 8.300 | m2 8.30
RC-40 t =100
EILZRIL A= 1000 0630 X 0.030 0.189 | m3 0.19
1:3
h)-bE
PC-4 B400 X 500 N =( 10.00 050 )/ 050 = 19.00 19 & 19
YU-FUhE 10mIZ 13K
T-14 B400 x 500 N= 1000 1000 = 1.00 1| & 1
Htkr A B
CDRI;Et T )
500 X 800 L = 10.000 = 10.000 | m 10.00
B 10.00
JEEERAYHY—F VvV = m3 | BI&EETE
18-8-25
H#ERA A= 1000 0.830 8.300 | m2 8.30
RC-40 t =100
EILEIL A= 1000 0630 X 0.030 0.189 | m3 0.19
1:3
Ih)-bE
PC-4 B400 X 500 N =( 10.00 050 )/ 050 = 19.00 19| & 19
YU-FUhE 10mIZ1#K
T-14 B400 X 500 N= 1000 1000 = 1.00 1| #& 1
Htkr A B
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CDfEIiE "I ZfliE o2 S OBE £ 10m4 Y
A W o R Bl % B
CDIE it F)
500 X 900 L = 10.000 10.000 | m 10.00
B 10.00
EER VS —h V= m3 | Bl&Et L
18-8-25
HBERR A= 1000 0.830 8.300 | m2 8.30
RC-40 t =100
EJLRIL A= 1000 0630 x 0.030 0.189 | m3 0.19
1:3
mVY IR
PC-4 B400 X 500 N =( 10.00 050 )/ 050 = 19.00 19 #% 19
YL-FurE 10mIZ 14
T-14 B400 x 500 N= 10.00 1000 = 1.00 1| #% 1
HEwTA B
CDRI;E it )
500 X 1000 L = 10.000 10000 | m 10.00
B 10.00
JEEERAYHY—F VvV = m3 | Bl&ETE
18-8-25
HiERR A= 1000 0.830 8.300 | m2 8.30
RC-40 t =100
EILZIL A= 1000 0630 X 0.030 0.189 | m3 0.19
1:3
) -bE
PC-4 B400 X 500 N =( 10.00 050 )/ 050 = 19.00 19| & 19
YU-FuhE 10mIZ 13K
T-14 B400 x 500 N= 1000 1000 = 1.00 1| #% 1
Htkr A B
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TD-2#k b ] Z2 (018
ﬂ% %Eii
15y

% wRO® Bifs1 = E
CDfil;& nTZAliE HitWrF 250 X 400 m 7.50
4T 250 % 500 m 6.00
Hitlr B 250 X 600 m 2.00
gt m 15.50
EEERIVHY—b 18-8-25 m3 0.47
HEtwR RC-40 t =100 m?2 8.53
EJLEZIL 1:3 m3 0.16
1Y) -bE PC-4 B200 X 500 ) 29

JL-FurE T-14 B200 x 500 #HE " 2 it 47
qMEHvb KK [El3i1 1




CDfliE AT L% O 2 H OE E
% 71 Hi =1 = B {1 =
CDRIEG T FA)
250 % 400 = 7542 = 7542| m 7.50
250 % 500 =  6.000 = 6000 m 6.00
250 X 600 = 2000 = 2000| m 2.00
H 15.50
EERIVHY—b = 0468 | m3 0.47
18-8-25
HIERA = 1550 0.550 8525 | m2 8.53
RC-40 t =100
EILEIL = 1550 0.350 x 0.030 0.163 | m3 0.16
1:3
y)-+E
PC-4 B200 x 500 =( 15.50 1.00 )/ 050 = 29.00 29[ #® 29
rL-FurE 10mIZ1#&
T-14 B200 x 500 = 1550 1000 = 1.55 2| & 2
Mtk B
gaHhvk
fAlEARE = = 1| &Fr 1
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A2 \—hkaH)—k

Efa ) —MIEDEE —R LY
Al BEH H4A4X | avy-ts THE Lig WrmEmiE |[FHEE|  ATE
BXxH k b1 b2 Ac Ve
(m) (m) (m) (m) (m2) (m2) (m3)
250 % 400 0.150 0.290 0.290 0.040
7.542 | 250 % 400 0.055 0.290 0.290 0.013 0.027 0.204
250 % 500 0.155 0.290 0.290 0.042
6.000 | 250 x 500 0.074 0.290 0.290 0.018 0.030 0.180
250 % 600 0.174 0.266 0.290 0.045
i 2.000 | 250 x 600 0.147 0.266 0.289 0.038 0.042 0.084
g 15.542 0.468
410
CD{Ri;%& (B250) ~TZREUKER
FUE <t & (mm)
BxH H b1 e f h
250x 250 250 290 60 85
250 = 300 300
= 250 x dUO_ ﬂﬂ
250 x 500 500
250 x 600 GO0 266 72 120
250 x 700 700 246 82 220
S 250 = 800 800 226 92 320
j‘/ )=
_,:] @——d 250 900 900 206 102 420
% ;’”‘ "'/' 1 E#D S ) — R
H=500LLF b2 = 0.290 (m)
wd G b H=60014 £ b2=bl+ (k-0.030)x02@m b2 =020

Ac = (bl +b2) /2x (k-003) +
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(b1 +0.08 ) /2x0.030 (m2)




KD- 74t 7 =T Z &
ﬂ% %Eii
15y

% wRO® Bifs1 = E
CDfil;& nTZAliE #itWr B 500 % 700 m 9.70
4B F 500 % 800 m 22.00
Hitlr Bl 500 % 900 m 12.00
gt m 43.70
EEERIVHY—b 18-8-25 m3 2.04
HEtwR RC-40 t =100 m?2 36.27
EJLEZIL 1:3 m3 0.83
1Y) -bE PC-4 B400 X 500 ) 83

JL-FurE T-14 B400 x 500 #HE " 5 it 47
qMEHvb KK [El3i1 1
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CDfliE AT &% O E H OE E
% 71 Hi =1 = B {31 =
CDRIEG T FA)
500 % 700 L= 9749 =  9749| m 9.70
500 % 800 L = 22000 = 22000 m 22.00
500 X 900 L= 12.000 = 12000 m 12.00
Hi 43.70
EERIVHY—b VvV = 2037 | m3 2.04
18-8-25
HIERA A= 4370 X 0.830 36.271 | m2 36.27
RC-40 t =100
EILEIL A= 4370 x 0630 X 0.030 0.826 | m3 0.83
1:3
Y-+ E
PC-4 B400 x 500 N=( 4370 — 250 )/ 050 = 82.40 83 & 83
rL-FurE 10mIZ14K
T-14 B400 x 500 N= 4370 / 1000 = 4.37 5| & 5
Mtk B
gaHhvk
fAlERE N = = 1| &Fhr 1
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A nN—hka D) —k

a1/ —h% % E’ —&f-
EEa V) —MIEDEE ABY
p: =1 EE R HA4X | h)-tE THE L1E WrEE |FHEmiE|  KE
BxH k b1 b2 Ac Ve
(m) (m) (m) (m) (m2) (m2) (m3)
500 x 700 0.100 0.516 0.530 0.046
9.749 | 500 x 700 0.055 0.516 0.521 0.022 0.034 0.331
500 x 800 0.155 0.496 0.521 0.072
22.000 | 500 x 800 0.054 0.496 0.501 0.021 0.047 1.034
500 x 900 0.154 0.476 0.501 0.069
P 12.000 | 500 % 900 0.099 0.476 0.490 0.042 0.056 0.672
& 43.749 2.037
690
OB (BS00) <Fifge R VMBS
EA | HUA + & (m)
,Q: BxH H b1 e f H h
500x 500| G500 560 65| 105 715 -
|s00% 600 600 s36| 7 815 120
il |s00x 700 700 516 a7 oi5| 220
|500x 800| 800 496 97 1015| 320
_____________ | 500x 900| 900 476| 107 115|420
= = 500%1000| 1000 456| 117 1215|520
500% 1100 | 1100 438] 127 1315|620
500%1200| 1200 416] 137 1415|720
o 500x1300 | 1300 396| 147 1515 820
|500x1400| 1400 376 157| 125| 1635| 920
f&ﬁﬂ;‘gﬂ'ﬂ soox1500| 1500 356 167 1735| 1020
- rl — BEHL T U — M
b2 =bl =+ (k - 0.030 ) x 0.2 (m) 3 b2 = 0.560

bl

Ao = (bl +b2) /2% (k-0030)+ (bl +0.08)/2x 0030 (n2)
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HD—1#6¢ B =] Z= {78

15y

% wRO® i==Livd =2 E
CDfil;& nTZAliE Mt F 250 % 250 m 22.20
B m 22.20
EEERIVHY—b 18-8-25 m3 0.53
HEtwR RC-40 t =100 m?2 12.21
EJLEZIL 1:3 m3 0.23
9 -bE PC-4 B200 X 500 5y 42

JL-FurE T-14 B200 x 500 #HE " 3 e
qMEHvb KK &30 1
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CDflE AT &% O E H OE E
% 71 Hi =1 = B =
CDRIEG T FA)
250 % 250 L= 22189 = 22189| m 22.20
Hi 22.20
EERIVHY—h VvV = 0533 | m3 0.53
18-8-25
HIERA A= 2220 X 0550 12.210 | m2 12.21
RC-40 t =100
EILEIL A= 2220 x 0350 X 0.030 0.233 | m3 0.23
1:3
Y-+ E
PC-4 B200 x 500 N=( 2220 — 150 )/ 050 = 41.40 42( ¥ 42
rL-FurE 10mIZ14K
T-14 B200 x 500 N= 2220 / 1000 = 222 3 #& 3
Mtk B
gaHhvk
fAlERE N= 1 = 1| & 1
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A N—ka 9 )—k

Ao —bEDE —xX&Hf-
Efav Y )—MIEDEE ALY
Al R H4X | avy-ts THE g ErmmiE |[FHEE|  ATE
BxH k b1 b2 Ac Ve
(m) (m) (m) (m) (m2) (m2) (m3)
250 % 250 0.139 0.290 0.290 0.037
i 22.189 | 250 x 250 0.050 0.290 0.290 0.011 0.024 0.533
g 22.189 0.533
410
CD{RI7# (B250) TEBEUHMESR
FUE < & (mm)
BxH H b1 e f h
250 = 250 250 290 60 85
260 = 300 300
x 250 = 400 400
250 = 500 500
250 % 600 600| 266 12 120
£ 250 = 700 T00 246 82 220
- 250 = 800 800 226 92 320
] ﬁfgjﬂ 250 = 900 900| 206 102 420
-l E#fo o) — ~EmiE
o A
H=500LLTF b2 = 0.290 (m)
- b1 & H=600LL £ b2=b1 + (k-0030) x0.2 (m # b2 = 0.290

Ac = (bl +b2) /2x (k-0030)+ (bl +0085)
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HD-2#6k i =] Z= {78

15y

% wRO® i==Livd =2 E
CDfil;& nTZAliE HitWrF 250 X 400 m 27.60
B m 27.60
EEERIVHY—b 18-8-25 m3 0.69
HEtwR RC-40 t =100 m?2 15.18
EJLEZIL 1:3 m3 0.29
9 -bE PC-4 B200 X 500 5y 53

JL-FurE T-14 B200 x 500 #HE " 3 e
qMEHvb KK &30 1
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CDfliE "I L% B O E H OFE
& W E - B £
CDRIEGt T F)
250 % 400 = 27648 = 27648| m 27.60
5 27.60
EERIVYY - = 0.691 | m3 0.69
18-8-25
HERA = 2760 0.550 15.180 | m2 15.18
RC-40 t =100
EILEIL = 2760 0.350 X 0.030 0.290 | m3 0.29
1:3
-+ &=
PC-4 B200 x 500 =( 27.60 150 )/ 050 = 52.20 53| #& 53
rL-FohE 10mIZ1#K
T-14 B200 X 500 = 2760 1000 = 2.76 3[ ® 3
itk A B
Rahvk
BRI =1 = 1| &Fr 1
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A N—ka 9 )—k

Efav Y )—MIEDEE —R LY
Al R H4X | avy-ts THE g ErmmiE |[FHEE|  ATE
BxH k b1 b2 Ac Ve
(m) (m) (m) (m) (m2) (m2) (m3)
i 250 X 400 0.141 0.290 0.290 0.038
i 27.648 | 250 x 400 0.050 0.290 0.290 0.011 0.025 0.691
g 27.648 0.691
410
CD{Ri;# (B250) +EREUHESR
LA <t & (mm)
BxH H b1 [} h
250x 250 250 290 60 85 -
250 300 300
T 250 x 400 400
250 = 500 500 |
250 600 600 266 72 120|
= 250= 700 700 246 82 220|
— 250 = 80O 800 226 92 320:
2 ﬁ““gg r 250 900 | 900| 206| 102 420
ol y &) — e
H=500LLF b2 = 0.290 (m)
H=600LL E b2=b1+ (k-003) x 0.2 (m ¥ b2 = 0290

Ac= (bl +b2) /2x (k-0030) + (b1 +008)/2x0.03 m2




HD- 34k i ] Z= {8

15y

% wRO® i==Livd # = E
CDfil;& nTZAliE Hitwr B 300 % 500 m 31.00
B m 31.00
EEERIVHY—b 18-8-25 m3 1.08
HEtwR RC-40 t =100 m?2 18.60
EJLEZIL 1:3 m3 0.37
9 -bE PC-4 B250 X 500 5y 58

JL-FurE T-14 B250 x 500 #HE " 4 it 57
qMEHvb KK &30 0




CDfliE AT L% O E H OE E
% 71 Hi =1 = B =
CDRIEG T FA)
300 % 500 L= 11000 + 20.000 = 31000]| m 31.00
Hi 31.00
EERIVHY—h VvV = 1.084 | m3 1.08
18-8-25
HIERA A= 3100 X 0.600 18.600 | m2 18.60
RC-40 t =100
EILEIL A= 3100 x 0400 X 0.030 0.372 | m3 0.37
1:3
Y-+ E
PC-4 B250 x 500 N=( 3100 — 200 )/ 050 = 58.00 58 58
rL-FurE 10mIZ14K
T-14 B250 x 500 N= 3100 / 1000 = 3.10 4| # 4
Mtk B
gaHhvk
fAlERE N= 0 = o & 0
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A N—hka p)—k

EHIV)—MEDE —= &Y
=4 ik H4A4X | w-bE L] L1E BrEiE | FHEEE| *E
BxH k b1 b2 Ac Ve
(m) (m) (m) (m) (m2) (m2) (m3)
i 300 x 500 0.150 0.340 0.340 0.047
11.000 | 300 % 500 0.128 0.340 0.340 0.040 0.044 0.484
i 300 x 500 0.128 0.340 0.340 0.040
20.000 | 300 x 500 0.068 0.340 0.340 0.019 0.030 0.600
31.000 1.084
460
COMIM (B300) ~TAERUREE
A | FUR <+ & (mm)
8]' BxH H b1 e f H h
300x 300 300 340 60 85 475 -
300x 400 | 400 575
300x 500 | 500 675
300x 600 600 316 72 175 120
300x 700 700 296 82 875 220
= = 300x 800 800 276 92 975 320
300x 900 | 900 256 102 1075| 420
300x1000 | 1000 236 112 1175 520
b2 300x1100 | 1100 216| 122 1275| 620
- 300 = 1200 1200 196 132 105 1395 720
e 300x1300 | 1300 176| 142 1495| 820
% E y [E88D D ) — M@
H=500LLF b2 = 0. 340 (m)
. bl . H=60011 E b2=bl+ (k-0030) x0.2 (M 3% b2 S 0.340
Ac= (bl +b2) /2x (k-0.030) + (bl +0.085) /2x 0.030 (m2)




HD-4#itEfr el Z ;&
ﬂ% %Eii
15y

% wRO® Bifs1 = E
CDfil;& nTZAliE Hitwr B 300 % 500 m 400
CDfHl;& nTZAliE HitWrF 300 % 600 m 29.10
5t m 33.10
EEERIVHY—b 18-8-25 m3 1.03
HEBwR RC-40 t =100 m2 19.86
EJLEZIL 1:3 m3 0.40
))& PC-4 B250 X 500 5 63

JL-FurE T-14 B250 x 500 #HE " 4 Wt AR
gMRHvb XS [El3i1 5




CDfliE AT L% O E H OE E
% 71 Hi =1 = B =
CDRIEG T FA)
300 % 500 L= 4000 = 4000 m 400
300 X 600 L= 29063 = 29063| m 29.10
&t 33.10
LRIV —h VvV = 1.027 | m3 1.03
18-8-25
HEERA A= 3310 X 0.600 19.860 | m2 19.86
RC-40 t =100
EILEZIL A= 3310 x 0400 X 0.030 0.397 | m3 0.40
1:3
y)-+E
PC-4 B250 x 500 N=( 3310 — 200 )/ 050 = 62.20 63| & 63
rL-FurE 10mIZ14K
T-14 B250 x 500 N= 3310 / 1000 = 3.31 4| # 4
Mtk B
gghvk
fAlERE N=5 = 5| &Fr 5




A \—kaH)—k

Efavy)—rMIEDEE —R LY
Al = ek HA4X | -+ TiE i) BrEfE | TFHEmiE| A
BXxH k b1 b2 Ac Ve
(m) (m) (m) (m) (m2) (m2) (m3)
300 %X 500 0.068 0.340 0.340 0.019
4.000 | 300 x 500 0.056 0.340 0.340 0.015 0.017 0.068
300 % 600 0.156 0.316 0.340 0.047
29.063 | 300 x 600 0.069 0.316 0.324 0.018 0.033 0.959
33.063 1.027
460
COfli% (B300) TZEBERUMER
6 HFUS <t & (mm)
= BxH H b1 @ f H h
300= 300 300 340 60 85 475 -
40 300= 400 400 575
300x 500 500 675
300= 600 600 316 12 715 120
e} 300= 700 700 296 82 875 220
= = 300= 800 800 276 92 a75 320
300x 900 900 256 102 1075 420
. 300 = 1000 1000 236 12 1175 520
300 = 1100 1100 216 122 1275 620
- 300=1200 | 1200 196 132 105| 1395 720
Mgg"“ 300x1300 [ 1300 176] 142 1495| 820
= _J—]
. E#fa 2 — rRmH
o A
H=500LLF b2 = 0.340 (m)
a b1 a H=600LLE b2=b1+ (k=-0.030) x0.2 (m ¥ b2 = 0.340

Ac = (bl +b2) /2x (k=-0030)+ (bl +0.085) /2x 0030 (m2)




HD-5%it#r AT Z= &
ﬂ% %Eii
15y

% wRO® Bifs1 = E
CDfil;& nTZAliE HitWr B 300 % 600 m 4.80
4B F 300 % 700 m 18.00
gt m 22.80
EEERIVHY—b 18-8-25 m3 0.72
HEtwR RC-40 t =100 m?2 13.68
EJLEZIL 1:3 m3 0.27
1Y) -bE PC-4 B250 X 500 5 43

JL-FurE T-14 B250 x 500 #HE " 3 e
qMEHvb XS [El3i1 1
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CDfliE AT &% O E H OE E
% 71 Hi =1 = B =
CDRIEG T FA)
300 X 600 L= 4754 = 4754 m 480
300 x 700 L = 18.000 = 18000 m 18.00
&t 22.80
EERIVHY—b VvV = 0724 | m3 0.72
18-8-25
HEERA A= 2280 X 0.600 13.680 | m2 13.68
RC-40 t =100
EILEFIL A= 2280 x 0400 X 0.030 0274 | m3 0.27
1:3
y)-+E
PC-4 B250 x 500 N=( 2280 — 150 )/ 050 = 4260 43 #® 43
rL-FurE 10mIZ14K
T-14 B250 x 500 N= 2280 / 1000 = 2.28 3 # 3
Mtk B
gaHhvk
fAlEARE N= 1 = 1| & 1




A N—hka p)—k

EEI V) —MIEDEE —= &Y
=4 EERE H4A4X | w-bE THE L1E WrEE |FHEmiE|  RHE
BxH k b1 b2 Ac Ve
(m) (m) (m) (m) (m2) (m2) (m3)
300 x 600 0.069 0.316 0.324 0.018
4,754 | 300 x 600 0.054 0.316 0.321 0.014 0.016 0.076
300 x 700 0.154 0.296 0.321 0.044
i 18.000 | 300 % 700 0.100 0.296 0.310 0.027 0.036 0.648
22.754 0.724
460
CORIH (B300) <HkER UM iEH
&R | BUs + & (mm)
2 BxH H | bt e f H h
300x 300 | 300 340 60| 85| 475 -
240 300= 400 400 575
300x 500 | 500 675
300x 600 | 600 316 72 775 120
________ _ 300x 700 | 700 296 82 875 220
= = 300x 800 | s00| 276 92 975 320
300x 900 900 256 102 1075 420
" 300x1000 | 1000| 236| 112 1175 520
b2 300x1100 | 1100| 216 122 1275|620
— 300x1200 | 1200| 196| 132 +105| 1395 720
-
|"3—51J_ 300 » 1300 1300 176 142 1495 820
% 1 ) E&a ) — FEER
H=500LLF b2 = 0.340 (m)
. bl . H=600L1.E b2=bl + (k=-0030) x 0.2 (m 3 b2 S 0.340
Ac=(bl +b2) /2x (k=-0.030) + (bl +008 ) /2 x0.030 (m2)




HD-6# i =] Z= {2l 78

15y
% wRO® i==Livd =2 E
CDfil;& nTZAliE Hitwr B 300 % 700 m 21.00
B m 21.00
EEERIVHY—b 18-8-25 m3 0.42
HEtwR RC-40 t =100 m?2 12.60
EJLEZIL 1:3 m3 0.25
9 -bE PC-4 B250 X 500 5y 39
JL-FurE T-14 B250 x 500 #HE " 3 e
qMEHvb XS [El3i 0
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CDfliE AT L% O E H OE E
% 71 Hi =1 = B =
CDRIEG T FA)
300 x 700 L = 21.000 = 21000 m 21.00
Hi 21.00
EERIVHY—h VvV = 0420 | m3 0.42
18-8-25
HIERA A= 2100 X 0.600 12.600 | m2 12.60
RC-40 t =100
EILEIL A= 2100 x 0400 X 0.030 0.252 | m3 0.25
1:3
Y-+ E
PC-4 B250 x 500 N=( 2100 — 150 )/ 050 = 39.00 39 # 39
rL-FurE 10mIZ14K
T-14 B250 x 500 N= 2100 / 1000 = 2.10 3 #& 3
Mtk B
gaHhvk
fAlERE N= 0 = o & 0
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A N\—=ba9)—k

ESa V) MIEOEHE —xXHY
B = EERE H4A4X | h)-bE TiE L1E BREmFE | FHEEE| #E
BXH k b1 b2 Ac Ve
(m) (m) (m) (m) (m2) (m2) (m3)
[ 300 x 700 0.100 0.296 0.310 0.027
i 21.000 | 300 x 700 0.050 0.296 0.300 0.012 0.020 0.420
21.000 0.420
460
CORIM (B300) <A%K B UMER
#m | wUs + & (mm)
=l BxH H bl ] f H h
300x 300 300 340 60 85 475 -
240 300= 400 400 575
300x 500 | 500 675
300x 600 | 600| 316| 72 775 120
________ 300x 700 | 700| 206| 82 875| 220
= = 300x 800 | 800| 276 92 975| 320
300= 900 900 256 102 1075 420
- 300 = 1000 1000 236 112 1175 520
b2 | 3001100 | 1100| 216 122 1275 620
- 300 = 1200 1200 196 132 105 1395 720
Eﬁ";; ’ j 300x1300 | 1300] 176] 142 1495| 820
1
. B8 L) — FIFER
M A
H=5004F b2 = 0.340 (m)
- b1 & H=600LLE b2=0bl + (k=-0030) x 0.2 (m 3 b2 = 0.340
Ac=(bl +b2) /2x (k-0030)+ (bl +0.085) 2 x 0.030 (m2)
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HD-74#6¢ i ] Z= {78

WEEHE
15y
% wRO® i==Livd =2 E
CDfil;& nTZAliE Hitwr B 300 % 800 m 8.00
5t m 8.00
EEERIVHY—b 18-8-25 m3 0.23
HEBwR RC-40 t =100 m?2 4.80
EJLEZIL 1:3 m3 0.10
19)-bE PC-4 B250 X 500 15 15
JL-FurE T-14 B250 x 500 #HE " 1 e
BT AN XS G50 0
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CDfliE AT L% O E H OE E
% 71 Hi =1 = B =
CDRIEG T FA)
300 x 800 L= 8.000 = 8000 m 8.00
&t 8.00
LRIV —h VvV = 0232 | m3 0.23
18-8-25
HEERA A= 800 X 0.00 4800 | m2 4.80
RC-40 t =100
EILEZIL A= 800 x 0400 X 0.030 0.096 | m3 0.10
1:3
y)-+E
PC-4 B250 x 500 N=( 800 — 050 )/ 050 = 15.00 15| & 15
rL-FurE 10mIZ14K
T-14 B250 x 500 N= 800 / 1000 = 0.80 1| #% 1
Mtk B
gghvk
fAlERE N= 0 = o &rr 0
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A N—hka p)—k

E&a s R R OHE —st sty
=4 EERE H4A4X | w-bE THE L1E WrEE |FHEmiE|  RHE
BxH k b1 b2 Ac Ve
(m) (m) (m) (m) (m2) (m2) (m3)
i 300 % 800 0.124 0.276 0.295 0.032
i 8.000 | 300 x 800 0.100 0.276 0.290 0.025 0.029 0.232
8.000 0.232
460
COBI® (B300) TABRUMBE
A | WUs )
8 BxH H b1 ] f H h
300= 300 300 340 60 85 475 -
300x 400 | 400 575
300x 500 | 500 675
300x 600 | 600| 316| 72 775 120
________ 300x 700 | 700| 296| 82 875| 220
q = 300x 800 | 800| 276| 92 975| 320
300= 900 900 256 102 1075 420
i 300x1000 | 1000| 236] 112 1175 520
b2 300x1100 | 1100| 216 122 1275 620
- 300 = 1200 1200 196 132 105 1395 720
Eﬂﬂ;g "ﬂ 300x1300 | 1300| 176 142 1495 820
8,
- L ) B8 L Y — FIRER
H=500LLF b2 = 0.340 (m)
n b1 & H=600LL E b2=0bl + (k-0030) x 0.2 (m 3 b2 = 0.340

Ao = (bl +b2) /2x (k-0030) + (bl +0.08) /2x0.030 (m2)
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SD-5#tt i vl Z= &
ﬂ% %Eii
15y

% wRO® Bifs1 = E
CDfil;& nTZAliE HitWrF 400 X 600 m 28.10
4T F 400 % 700 m 8.00
gt m 36.10
EEERIVHY—b 18-8-25 m3 1.31
HEtwR RC-40 t =100 m?2 25.27
EJLEZIL 1:3 m3 0.54
1Y) -bE PC-4 B300 X 500 5 69

JL-FurE T-14 B300 x 500 #HE " 4 e
qMEHvb XS [El3i1 4
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CDfliE AT iE O E H OE E
% 71 Hi =1 = B =
CDRIEG T FA)
400 % 600 L= 28064 = 28064| m 28.10
400 % 700 L= 8000 = 8000 m 8.00
&t 36.10
EERIVHY—b VvV = 1314 | m3 1.31
18-8-25
HEERA A= 3610 X 0.700 25270 | m2 25.27
RC-40 t =100
EILEFIL A= 3610 x 0500 x 0.030 0542 | m3 0.54
1:3
y)-+E
PC-4 B300 x 500 N=( 3610 — 200 )/ 050 = 68.20 69| #& 69
rL-FurE 10mIZ14K
T-14 B300 x 500 N= 3610 / 1000 = 3.61 4| # 4
Mtk B
gaHhvk
fAlEARE N= 4 = 4 | &R 4
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A N—ka 9 )—k

EEaV V) —MIEDEE —= &Y
p: (=1 fiek:3 H4A4X | vy)-ba THE LiE WrEE |[FHEmiE| AfE
BXxH k b1 b2 Ac Ve
(m) (m) (m) (m) (m2) (m2) (m3)
i 400 x 700 0.085 0.396 0.407 0.029
8.000 | 400 x 700 0.109 0.396 0.412 0.039 0.034 0.272
400 %X 600 0.066 0.416 0.423 0.023
3.272 | 400 X 600 0.076 0.416 0.425 0.027 0.025 0.082
4,035 | 400 x 600 0.076 0.416 0.425 0.027 0.027 0.109
i 20.757 | 400 x 600 0.138 0.416 0.438 0.054 0.041 0.851
g 36.064 1.314
560
CDRIHE (B40D) THERUMESR
WA | FUEH St ()
ol BxH Ho| b e FoloW h
400x 400 | 400| 440| 60| 95| 590 -
400% 500 | 500 690
40 400x 600 | 600| 416] 72 70| 120
400% 700 | 00| 396| 82 890| 220
__________ = 400x 800 | @oo| 376| @2 990| 320
= = 400% 900 | 900| 356( 102 1000 420
4001000 | 1000| 336| 112 190 520
il 400x1100 | 1100| 316| 122 1200 620
b2 4001200 | 1200 296| 132 1390 720
400%1300 | 1300| 276 142 115| 1510] 820
TE R~ b
g% ] Efia 25— &
b H=500LLF b2 = 0.440 (m)
“ H=600L1 £ b2=bl + (k-0.030) x 0.2 (W 3% b2 = 0.440
. o . Ac= (bl +b2) /2x (k-0030)+ (bl +0085),/2x0.030 (m2)

4-88




SD-4#tt vl Z= &
ﬂ% %Eii
15y

% wRO® Bifs1 = E
CDfil;& nTZAliE HitWrF 400 % 500 m 14.30
4T F 400 X 600 m 3.50
gt m 17.80
EEERIVHY—b 18-8-25 m3 0.59
HEtwR RC-40 t =100 m?2 12.46
EJLEZIL 1:3 m3 0.27
1Y) -bE PC-4 B300 X 500 5 34

JL-FurE T-14 B300 x 500 #HE " 2 it 47
SEAvE NN [El3i1 10
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CDfEli% AT L% B = H E
& #oE = B 2
CDRIEG T FA)
400 % 500 L= 14305 = 14305| m 14.30
400 % 600 L= 3488 = 3488| m 3.50
&t 17.80
EERIVHY—b VvV = 0585 | m3 0.59
18-8-25
HEERA A= 1780 0.700 12.460 | m2 12.46
RC-40 t =100
EILEFIL A= 1780 0500 x 0.030 0.267 | m3 0.27
1:3
y)-+E
PC-4 B300 x 500 N =( 17.80 1.00 )/ 050 = 33.60 34 # 34
rL-FurE 10mIZ14K
T-14 B300 x 500 N= 1780 1000 = 1.78 2 # 2
Mtk B
gaHhvk
fAlEARE N = ## = 10 | &Fh 10
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A N—ka 9 )—k

EEaV V) —MIEDEE —= &Y
p: (=1 fiek:3 H4A4X | vy)-ba THE LiE WrEE |[FHEmiE| AfE
BXxH k b1 b2 Ac Ve
(m) (m) (m) (m) (m2) (m2) (m3)
i 400 x 600 0.140 0.416 0.438 0.054
3.488 | 400 x 600 0.150 0.416 0.440 0.059 0.057 0.199
400 X 500 0.050 0.440 0.440 0.017
i 14.305 | 400 x 500 0.093 0.440 0.440 0.036 0.027 0.386
g 17.793 0.585
560
CDEIi# (B400) ~TERBRUHER
#E | 2US < & ()
9 BxH H | bl e f H h
400% 400 | 400| 440| 60| 95| 590 -
400% 500 | 500 690
a0 400% 600 | 600| 416| 72 90| 120
400% 700 | 700| 396| 82 sg0| 220
__________ 400% 800 | 800| 376 92 990 | 320
= = 400% 900 | 900| 356| 102 1090 | 420
400 = 1000 1000 336 112 1190 520
_ 4001100 | 1100| 316| 122 1290 | 620
b2 400x1200 | 1200 ?296| 132 1390 720
400x1300 | 1300] 276 142 115] 1500 s20
E&ah-+
g% | Efaryy)— FEEk
" H=500LLF b2 = 0.440 (m)
P /| H=60011 L b2=bl + (k-0.030) x0.2 (m % b2 = 0.440
. - . Ao = (bl +b2) /2x (k-0.030) + (bl +0.085) /2x0.030 (m2

4-91




SD-3#tk i vl Z= &
ﬂ% %Eii
15y

% wRO® Bifs1 = E
CDfil;& nTZAliE HitWrF 400 X 400 m 6.30
4T F 400 % 500 m 18.00
gt m 24.30
EEERIVHY—b 18-8-25 m3 1.03
HEtwR RC-40 t =100 m?2 17.01
EJLEZIL 1:3 m3 0.37
1Y) -bE PC-4 B300 X 500 5 46

JL-FurE T-14 B300 x 500 #HE " 3 e
qMEHvb XS [El3i1 1
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CDfliE AT &% O E H OE E
% 71 Hi =1 = B =
CDRIEG T FA)
400 % 400 L= 6344 =  6344| m 6.30
400 % 500 L = 18.000 = 18000 m 18.00
&t 24.30
EERIVHY—b VvV = 1.028 | m3 1.03
18-8-25
HEERA A= 2430 x 0.700 17.010 | m2 17.01
RC-40 t =100
EILEFIL A= 2430 x 0500 x 0.030 0.365 | m3 0.37
1:3
y)-+E
PC-4 B300 x 500 N=( 2430 — 150 )/ 050 = 4560 46 #® 46
rL-FurE 10mIZ14K
T-14 B300 x 500 N= 2430 / 1000 = 243 3 # 3
Mtk B
gaHhvk
fAlEARE N= 1 = 1| & 1
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A N—ka 9 )—k

Efavo)— = DEE —=R LY
p:lf=1 fiek:3 HA4X | avh)-+r5 THE Lig WrEE |[FHEmiE| AfE
BxH k b1 b2 Ac Ve
(m) (m) (m) (m) (m2) (m2) (m3)
¥y 400 x 500 0.093 0.440 0.440 0.036
18.000 | 400 x 500 0.154 0.440 0.440 0.062 0.049 0.882
400 x 400 0.054 0.440 0.440 0.018
i 6.344 | 400 x 400 0.073 0.440 0.440 0.027 0.023 0.146
g 24.344 1.028
560
CDEI#E (B400) TEFRUHER
R [EadE] <t & (mm)
0 BxH Ho| b1 | e t W h
400x 400 | 400 40| 60| 95| S500 =
400 500 | 500 690
0 400% 600 | 600| 416] 72 70| 120
400x 700 | 00| 39| 82 800| 220
__________ 400x 800 | 800 376] 92 990| 320
= = 400x 900 | o00| 3s6] 102 1000 420
400%1000 | 1000| 336] 112 1190 520
i 4001100 | 1100| 316] 122 1290 620
b2 il 400x1200 | 1200| 206| 132 1390| 720
400%1300 | 1300| 276] 142| 115 1510] 820
E&RIAA-b
LM_Q%J#J Effass ) — HEER
; H=500LLF b2 = 0.440 (m)
ke o H=60011 b2=bl+ (k-0.030) x 0.2 (W 3 b2 = 0.440
, o . Ao = (bl +b2) /2x (k-0030)+ (bl +0.08) /2x0.030 @2
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SD-24t el Z= Al

WEEHE
15y
% wRO® i==Livd = E
CDfil;& nTZAliE HitWrF 250 X 400 m 14.60
B m 14.60
EEERIVHY—b 18-8-25 m3 0.48
HEtwR RC-40 t =100 m?2 8.03
EJLEZIL 1:3 m3 0.15
9 -bE PC-4 B200 X 500 5y 28
JL-FurE T-14 B200 x 500 #HE " 2 e
qMEHvb KK &30 1
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CDfliE AT L% B = H OFE £
% 71 Hi =1 = B # =
CDRIEG T FA)
250 % 400 L= 14636 = 14636 m 14.60
B 14.60
EERIVHY—b VvV = 0483 | m3 0.48
18-8-25
HIERA A= 1460 X 0550 8.030 | m2 8.03
RC-40 t =100
EILEIL A= 1460 X 0350 X 0.030 0.153 | m3 0.15
1:3
y)-+E
PC-4 B200 x 500 N=( 1460 — 100 )/ 050 = 27.20 28| 28
rL-FurE 10mIZ14
T-14 B200 x 500 N= 1460 / 1000 = 146 2| &, 2
Mtk B
gaHhvk
fAlEARE N= 1 = 1| & 1
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A N—ka 9 )—k

Efav Y )—MIEDEE —R LY
Al R H4X | avy-ts THE g ErmmiE |[FHEE|  ATE
BxH k b1 b2 Ac Ve
(m) (m) (m) (m) (m2) (m2) (m3)
i 250 X 400 0.100 0.290 0.290 0.026
i 14.636 | 250 % 400 0.148 0.290 0.290 0.040 0.033 0.483
g 14.636 0.483
410
CD{Ri;# (B250) TZBERUHESR
U < & (mm)
BxH H b1 e f h
250 = 250 250 290 60 85
250 = 300 300
x 250 400 400
250 500 500
250 = 600 600| 266 72 120
= 250 = 700 T00 246 82 220
- 250 = 800 800 226 92 320
- ﬁfﬁ:ﬂ 250 = 900 900| 206 102 420
-l \ ) E#fa o) — ~ETiE
H=500LLTF b2 = 0.290 (m)
- b & H=6001:LE b2=b1+ (k-0030)x0.2 (m # b2 = 0.290

Ac= (bl +b2) /2x (k-0030)+ (bl +0.085)
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D-5iik B A & A7

15y

% wRO® i==Livd = E
CDfil;& nTZAliE #tHrE 500 X 1000 m 49.10
B m 49.10
EEERIVHY—b 18-8-25 m3 2.81
HEtwR RC-40 t =100 m?2 40.75
EJLEZIL 1:3 m3 0.93
9 -bE PC-4 B400 X 500 5y 94

JL-FurE T-14 B400 x 500 #HE " 5 it 57
qMEHvb KK &30 1
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CDflE AT &% O E H OE E
% 71 Hi =1 = B =
CDRIEG T FA)
500 x 1000 L= 49100 = 49100 m 49.10
Hi 49.10
EERIVHY—h VvV = 2814 | m3 2.81
18-8-25
HIERA A= 4910 X 0.830 40.753 | m2 40.75
RC-40 t =100
EILEIL A= 4910 x 0630 X 0.030 0.928 | m3 0.93
1:3
Y-+ E
PC-4 B400 x 500 N=( 4910 — 250 )/ 050 = 93.20 94 & 94
rL-FurE 10mIZ14K
T-14 B400 x 500 N= 4910 / 1000 = 4091 5| & 5
Mtk B
gaHhvk
fAlERE N= 1 = 1| & 1
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A N—hka p)—k

EEI V) —MIEDEE —x LY
Al EERE HA4X | h)-tE THE L1E WrEE |FHEmiE|  RHE
BxH k b1 b2 Ac Ve
(m) (m) (m) (m) (m2) (m2) (m3)
500 x 1000 0.200 0.456 0.490 0.089
1.100 | 500 x 1000 0.125 0.456 0.475 0.052 0.071 0.078
500 x 1000 0.200 0.456 0.490 0.089
2.000 | 500 x 1000 0.064 0.456 0.463 0.024 0.057 0.114
1/} 17 1/ 17 1/ 17 V4 17
(BR B HE T x23) 46.000 | 500 X 1000 A& B iy i} A& 2.622
&t 49.100 2814
620
DB (B500) +iERUMES
@@ | wus | + &
g B=H H ] 8 f H h
500x 500 500 560 65 105 715 -
500x 600 600 536| 77 815 120
500x 700/ 700) 516) &7 | 915 220
500% 800 800 496 97 1015 320
_____________ 500 900 900 476 107 1115 420
i = 5001000 1000 456] 117 1215 520
500x1100| 1100 436] 127 1315 620
5001200 | 1200 416 137 1415 720
3 200 =1300| 1300 396 147 1515 820
B00=1400 | 1400 376 157 125 | 1635 920
4 Eﬂﬁ;‘g?u’i |'s00x1500| 1500| a56| 167 " 1735| 1020
. L = A D | — FFEE
b2 =bl + ( k -0.030) x 0.2 (m) # b2 = 0.560
Ao = (bl +b2) /2x (k=-0030)+ (bl +0.085) /2 x 0030 (m2)
e | b1 [}
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D-4#EMF T 2

WEEHE
1 &Y
& W p3 - ==X{v2 M= B E
CDfal;& T Z Al #EtET A 400 X 1000 m 40.00
it m 40.00
EEERIVHY—b 18-8-25 m3 1.76
HEERR RC-40 t =100 m2 28.00
EILRIL 1:3 m3 0.60
1)) -bE PC-4 B300 x 500 54 76
bL-FuhE T-14 B300 % 500 #fi B 54 4 it bt AR
fMEAHYE K B AR 0
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CDflE AT &% O E H OE E
% 71 Hi =1 = B =
CDRIEG T FA)
400 x 1000 L = 40.000 = 40000 m 40.00
Hi 40.00
EERIVHY—h VvV = 1.760 [ m3 1.76
18-8-25
HIERA A = 4000 X 0.700 28.000 | m2 28.00
RC-40 t =100
EILEIL A= 4000 x 0500 X 0.030 0.600 | m3 0.60
1:3
Y-+ E
PC-4 B300 x 500 N =( 4000 — 200 )/ 050 = 76.00 76| & 76
rL-FurE 10mIZ14K
T-14 B300 x 500 N = 4000 / 1000 = 4.00 4| # 4
Mtk B
gaHhvk
fAlERE N= 0 = o & 0
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A N—ka 9 )—k

Efav Y )—MIEDEE — =Y
(=1 R H4X | -5 THE iz ErmmiE |[FHEE|  ATE
BXxH k b1 b2 Ac Ve
(m) (m) (m) (m) (m2) (m2) (m3)
i 400 % 1000 0.200 0.336 0.370 0.066
2.000 | 400 x 1000 0.072 0.336 0.344 0.021 0.044 0.088
" n” " " " n” " n”
(BERSHET x19) 38.000 | 400 x 1000 B B& & & & 1.672
B 40.000 1.760
560
CDARE (B400) THE=R UM TR
HEA OELLE stk (mm)
3T BxH H bl e i H h
400 = 400 400 440 G0 95 590 -
400 = 500 500 690
400 = 600 600 416 12 790 120
400 x 700 J00 396 82 890 220
400 = 800 800 376 a9z 940 320
= T 400 = 900 900 356 102 1090 420
4001000 | 1000 336 12 1190 520
Jl 4001100 | 1100 36 122 1290 620
400 = 1200 | 1200 296 132 1390 720
400 x 1300 1300 276 142 115 1510 820
&b
el I"&W Effia o) — FEREiE
i H=500LLTF b2 = 0. 440 (m)
S / H=600L1L L b2 =bl + (k-0030) x02 (m b2 = 0.440
. ki . Ac=(bl+b2)}/2x (k-0030)+ (bl +0085) /2x0.030 m2)
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D-3#ft B el Z= {2l 7&
ﬂ% %Eii
15y

% wRO® Bifs1 = E
CDfil;& nTZAliE HitWrF 400 % 900 m 16.00
#itWrF 400 % 1000 m 20.00
gt m 36.00
EEERIVHY—b 18-8-25 m3 1.42
HEtwR RC-40 t =100 m?2 25.20
EJLEZIL 1:3 m3 0.54
1Y) -bE PC-4 B300 X 500 5 68

JL-FurE T-14 B300 x 500 #HE " 4 it 47
qMEHvb XS [El3i1 0
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CDfliE AT iE O E H OE E
% 71 Hi =1 = B =
CDRIEG T FA)
400 % 900 L= 16.000 = 16.000]| m 16.00
400 x 1000 L = 20.000 = 20000| m 20.00
&t 36.00
EERIVHY—b VvV = 1424 | m3 1.42
18-8-25
HEERA A= 3600 X 0.700 25.200 | m2 25.20
RC-40 t =100
EILEFIL A= 3600 x 0500 x 0.030 0.540 | m3 0.54
1:3
y)-+E
PC-4 B300 x 500 N=( 3600 — 200 )/ 050 = 68.00 68| & 68
rL-FurE 10mIZ14K
T-14 B300 x 500 N= 3600 / 1000 = 3.60 4| # 4
Mtk B
gaHhvk
fAlEARE N= 0 = o & 0
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A N\—hka ) —k

EEaV V) —MIEDEE —=R LY
p:lf=1 fiek:3 HA4X | avh)-+r5 THE Lig WrEE |[FHEmiE| AfE
BxH k b1 b2 Ac Ve
(m) (m) (m) (m) (m2) (m2) (m3)
¥y 400 X 1000 0.200 0.336 0.370 0.066
2.000 | 400 x 1000 0.072 0.336 0.344 0.021 0.044 0.088
400 X 1000 0.200 0.336 0.370 0.066
2.000 | 400 x 1000 0.076 0.336 0.345 0.022 0.044 0.088
400 X 1000 0.200 0.336 0.370 0.066
2.000 | 400 x 1000 0.084 0.336 0.347 0.025 0.046 0.092
400 X 1000 0.200 0.336 0.370 0.066
2.000 | 400 x 1000 0.093 0.336 0.349 0.028 0.047 0.094
400 X 1000 0.200 0.336 0.370 0.066
2.000 | 400 x 1000 0.101 0.336 0.350 0.031 0.049 0.098
400 X 1000 0.200 0.336 0.370 0.066
2.000 | 400 x 1000 0.110 0.336 0.352 0.034 0.050 0.100
400 X 1000 0.200 0.336 0.370 0.066
2.000 | 400 x 1000 0.118 0.336 0.354 0.037 0.052 0.104
400 X 1000 0.200 0.336 0.370 0.066
2.000 | 400 x 1000 0.127 0.336 0.355 0.040 0.053 0.106
400 X 1000 0.200 0.336 0.370 0.066
2.000 | 400 x 1000 0.136 0.336 0.357 0.043 0.055 0.110
400 X 1000 0.200 0.336 0.370 0.066
2.000 | 400 x 1000 0.144 0.336 0.359 0.046 0.056 0.112
400 x 900 0.100 0.356 0.370 0.032
2.000 | 400 x 900 0.053 0.356 0.361 0.015 0.024 0.048
400 x 900 0.100 0.356 0.370 0.032
2.000 | 400 x 900 0.061 0.356 0.362 0.018 0.025 0.050
400 x 900 0.100 0.356 0.370 0.032
2.000 | 400 x 900 0.070 0.356 0.364 0.021 0.027 0.054
400 x 900 0.100 0.356 0.370 0.032
10.000 | 400 x 900 0.078 0.336 0.346 0.023 0.028 0.280
g 36.000 1.424
560
CORIGH (B400) ~HER R URTR
BA | HUE <+ & ()
) BxH H b1 e i H h
400 400 400 440 60 95 530 =
400x 500 500 690
440 400x 600 | 600 416] 72 790 120
400 700 700 396 42 890 220
o] 400 800 800 376 92 0a0 320
o = 400 900 900 356 102 1090 420
4001000 | 1000 336 12 1190 520
- 4001100 | 1100 316 122 1290 620
4001200 | 1200 296 132 1390 120
400 x 1300 1300 276 142 15| 1510 820
E#b35Y-+
B3y - oo — TER
A H=500LLTF b2 = 0.440 (m
/ H=600LLE b2 =bl + ( k-0030) x 0.2 (m # b2 = 0.440
. b . Ao = (bl #+#b2) /2x (k-0030)+{bl +008 ) /2 x0.03 (m)
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D-245 7 . .’ﬁ[itl‘akﬁﬁll%

15y

% wRO® i==Livd =2 E
CDfil;& nTZAliE BT 400 X 600 m 12.00
TEBRA 400 x 700 m 400
5t m 16.00
BT 400 % 700 m 36.00
5t m 36.00
EEERIVHY—b 18-8-25 m3 2.59
HLavy)-+ 18-8-40 m3 1.12
i i 2 m2 3.20
HEtwR RC-40 t =100 m?2 25.20

EJLEZIL 1:3 m3 0.78 0.24+0.54

JL-FurE T-25 B300 x 500 #HE " 32 TR

T-14 B300 % 500 #A B " 4 #it 7 B

Y)-hE PC-4 B300 X 500 5 68 4w
qMEHvb XS [Eil3i1 0
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CDfliE AT L% O E H OE E
% 71 B =1 = B =
CDIEGERTFR)
400 % 600 L= 12.000 = 12000 m 12.00
400 x 700 L= 2.000 + 2.000 = 4000 m 400
Hi 16.00
EERIVHY—b VvV = 2594 | m3 2.59
18-8-25
HLavy)-+ A= 1600 x 0700 X 0.100 1120 | m3 1.12
18-8-40
il iy = A= 1600 X 0100 x 2 3200 | m2 3.20
EILEZIL A= 1600 x 0500 x 0.030 0.240 | m3 0.24
1:3
rL-FurE
T-25 B300 x 500 N= 1600 / 050 = 32.00 32 #® 32
&R MIE
sgHhvk
fAlERE N= 0 = o &rr 0
CDRIEGETFA)
400 % 700 L= 36.000 = 36000 m 36.00
B 36.00
HEERA A= 3600 X 0.700 25.200 | m2 25.20
RC-40 t =100
EILEIL A= 3600 x 0500 x 0.030 0.540 | m3 0.54
1:3
y)-+E
PC-4 B300 x 500 N=( 3600 — 200 )/ 050 = 68.00 68| & 68
rL-FurE 10mIZ14K
T-14 B300 x 500 N= 3600 / 1000 = 3.60 4| # 4
Htkr A B
gahvk
fAlEARE N= 0 = o &rr 0
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A nN\—=ba )=t

K- =0 E —xR&HY
Bl ik H4A4X | H-bE TiE Lig BT |FHMEE| KB
BxH k b1 b2 Ac Ve
(m) (m) (m) (m) (m2) (m2) (m3)
i 400 X 700 0.146 0.396 0419 0.054
2.000 [ 400 x 700 0.172 0.396 0.424 0.065 0.060 0.120
400 %X 600 0.072 0416 0.424 0.025
6.000 | 400X 600 0.100 0416 0.430 0.037 0.031 0.186
6.000 | 400 % 600 0.051 0.416 0.420 0.016 0.027 0.162
400 %X 700 0.151 0.396 0.420 0.057
2.000 [ 400 x 700 0.117 0.396 0413 0.042 0.050 0.100
i 400 x 700 0.200 0.396 0.430 0.077
2.000 | 400X 700 0.154 0.396 0.421 0.058 0.068 0.136
400 x 700 0.200 0.396 0.430 0.077
2.000 | 400 x 700 0.145 0.396 0419 0.054 0.066 0.132
400 %X 700 0.200 0.396 0.430 0.077
2.000 [ 400 x 700 0.137 0.396 0.417 0.051 0.064 0.128
400 x 700 0.200 0.396 0.430 0.077
2.000 | 400 x 700 0.128 0.396 0416 0.047 0.062 0.124
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2.000 | 400 x 700 0.094 0.396 0.409 0.033 0.055 0.110
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400 x 700 0.200 0.396 0.430 0.077
2.000 | 400X 700 0.080 0.396 0.406 0.027 0.052 0.104
n n n n n n n "
(EXFEHETx8) 16.000 [ 400 x 700 BE 73 BE 73 BE 0.832
Fi 52.000 2.594
560
GO 00 TEFRRUHEE
ER | FUE <t & (mm)
2] BxH | H | b1 | e | ¢ | 0 | n
400 = 400 400 440 ;) 95 500 =
400 50O 5O ]
400 % 60O GO0 | 416 72 To0 120
A00= 700 00 396 B2 Bag 220
400 BO0 ana 76 a2 Qa0 320
= = 400 800 0| 356 102 1000 [ 420
4001000 | 1000 | 336 12 1190 520
4001100 | 1100 316 122 1200 E20
B 400 = 1200 1200 296 132 1390 720
001300 | 1300 276 142 115 1510  B20
% EHD o) — FEER
by B H=500LLF b2 = 0.440 ()
H=6008L £ b2=0b1+ (k-0.030) x 0.2 (=) # b2 = 0.440
Ao = (bl +b2) /2x (k-00300+ Chl+0085) /2x0030 (m2

b1 [
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(=1 R H4X | -5 THE iz ErmmiE |[FHEE|  ATE
BXxH k b1 b2 Ac Ve
(m) (m) (m) (m) (m2) (m2) (m3)
i 400 x 700 0.200 0.396 0.430 0.077
2.000 | 400 x 700 0.080 0.396 0.406 0.027 0.052 0.104
" n” " " " n” " n”
(BB RS T x20) 40.000 | 400 x 700 B B& & & & 2.080
400 x 700 0.200 0.396 0.430 0.077
2.000 | 400 x 700 0.087 0.396 0.407 0.030 0.054 0.108
400 x 700 0.200 0.396 0.430 0.077
2.000 | 400 x 700 0.096 0.396 0.409 0.034 0.056 0.112
400 x 700 0.200 0.396 0.430 0.077
2.000 | 400 x 700 0.104 0.396 0.411 0.037 0.057 0.114
400 x 700 0.200 0.396 0.430 0.077
2.000 | 400 x 700 0.113 0.396 0.413 0.041 0.059 0.118
400 x 700 0.200 0.396 0.430 0.077
2.000 | 400 x 700 0.121 0.396 0.414 0.044 0.061 0.122
400 x 700 0.200 0.396 0.430 0.077
4521 | 400 x 700 0.054 0.396 0.401 0.017 0.047 0.212
B 56.521 2.970
H60
CD{E;# (B40D) ~TiEFRUSHER
A VR4 stk (mm)
e BxH H bi & f H' h
400 400 400 440 60 95 590 -
400 500 500 690
400 600 600 416 72 790 120
400 700 700 396 82 890 220
400x BOO 800 376 97 990 320
= T 400> 900 900 356 102 1090 420
400> 1000 [ 1000 336 12 1190 520
- 400> 1100 [ 1100 6 122 1290 620
400 = 1200 1200 296 132 1390 720
400 = 1300 1300 276 142 15| 1510 820
E &5+
= ra_;,l E#a 29— TS
il H=500LLF b2 = 0.440 (m)
A /| H=60011 £ b2=bl + (k-0030) x0.2 (m 3 b2 < 0440
5 i . Ao = (bl +b2)/2x{k-0030)+ (bl +0.085) /2x 0030 (m2)
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G1#. 0500.H600] 500 600 150 900 150 T-14_[10.11.53 3
G1#¢. D500, HT00 500 700 150 900 150 T-14 3.4.12,14,18,19,28, 34, 44 9
G1#%. 0500, H800| 500 800 150 900 150 T-14_|29.33 2
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AN H=500 | H=600 | H=700 | H=800 | H=900 | H=1000
B m 0.500 0.500 0.500 0.500 0.500 0.500
L m 0.500 0.500 0.500 0.500 0.500 0.500
H m 0.500 0.600 0.700 0.800 0.900 1,000
b1 m 0.150 0.150 0.150 0.150 0.150 0.150
b2 2ME+REx2| m 0.900 0.900 0.900 0.900 0.900 0.900
b3 m 0.900 0.900 0.900 0.900 0.900 0.900
) KE m 0.150 0.150 0.150 0.150 0.150 0.150
ffi EREMERHL m 0.050 0.050 0.050 0.050 0.050 0.050
M EN m 0.150 0.150 0.150 0.150 0.150 0.150
EinY m 0.065 0.065 0.065 0.065 0.065 0.065
EJE m 0.056 0.056 0.056 0.056 0.056 0.056
2108 B+b1x2| m 0.800 0.800 0.800 0.800 0.800 0.800
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EiLE A 21K m2 3.268 3.788 4.308 4828 5.348 5.868
g &t m2 3.268 3.788 4308 4828 5.348 5.868 | 27.408 4568
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G1#¢. 01600, HO00| 600 900 150 1000 150 |T-14.25 |7.24.47.48. 50 5
[51#¢. D600, H1000| 600 1000 150 1000 150 T-14 |25 1
f51#¢. 0600, H1200] 600 1200 200 1100 200 T-14 |8, 23, 49,51 4
f61#. 0600, H1400| 600 1400 200 1100 200 T-14 |[52.55 2
FAIR G5
Bal B b1 b2 hi EEE BEs a5 |
G1#2. 0500 H500| 500 500 150 900 150 1-25 |60, 61.62 3
1600, H900 T-14 24, 47, 48, 50

T-25 7

4-126




HHHTdEE NO,
BER HEA IRISITH oK # (G1#¢, [J600) 1 & &H =Y
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B m 0.600 0.600 0.600 0.600 0.600 0.600
L m 0.600 0.600 0.600 0.600 0.600 0.600
H m 0.700 0.800 0.900 1.000 1.200 1.400
b1 m 0.150 0.150 0.150 0.150 0.150 0.150
b2 2ME+REx2| m 1.000 1.000 1.000 1.000 1.000 1,000
b3 m 1.000 1.000 1.000 1.000 1,000 1.000
) KE m 0.150 0.150 0.150 0.150 0.150 0.150
ffi EREMERHL m 0.050 0.050 0.050 0.050 0.050 0.050
M EN m 0.150 0.150 0.150 0.150 0.200 0.200
EinY m 0.065 0.065 0.065 0.065 0.065 0.065
EJE m 0.056 0.056 0.056 0.056 0.056 0.056
2108 B+b1x2| m 0.900 0.900 0.900 0.900 0.900 0.900
&R L+b1x2| m 0.900 0.900 0.900 0.900 0.900 0.900
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m3 0.150 0.150 0.150 0.150 0.200 0.200 1.000 0.167
EiLE A 21K m2 4.966 5.566 6.166 6.766 7.966 9.166
g &t m2 4.966 5.566 6.166 6.766 7.966 9.166 | 40.596 6.766
avol)—k 21K m3 0.427 0.472 0517 0.562 0.652 0.742
FAEERR| m3 -0047 | -0055| -0082| -0073| -0.101| -0.165
AlFEELY | m3
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